H & 0 & AFSE H Al A
024495 =& 13 LBSHJIEISEEIH, SIIHEE3H JI&0 g2 ~ =0
FAUI D}
HY2AZH(BAHE ) (DIEH/DIE)
olzi2ay| ol /)
SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o CImE=E
AAE 4,482,355 4,645,811 A 163,456
= 54,899 256,510 A201,611
s 153,449 141,912 11,537
| 576,230 403,003 173,227
= 404,401 422,849 18,448
i 3,293,376 3,421,537 A 128,161
HEPHAH(SHHE D) (OIEHIIE) 682,687 675,351 7,336
elA2d| 319,468 312,132 7,336
Q2| 319,468 312,132 7,336
101 @l24H| 319,468 312,132 7,336
0 JItHI2E2 S e 57,268 49,932 7,336
OE2dA ZAtE JIMHIZ2E2X 4
e 47,328,000& *11% 5,207 2,604 2,603
OISES=, 78,8803 x2H+30 4,733 0 4,733
Sr#F2e(E2H/2AZ) 3,799,611 3,970,460 A170,849
= 54,899 256,510 A201,611
= 153,449 141,912 11,537
| 576,230 403,003 173,227
s 404,401 422,849 A 18,448
= 2,610,632 2,746,186 N135,554
A2 MHIA HIE 300,359 252,992 47,367
2& BH2H 176,859 139,492 37,367
101 @I 4| 28,635 26,268 2,367
04 J12tMIZ2 2Kt 28,635 26,268 2,367
O&E&= 78,8803 * 1 +30 2,367 0 2,367
201 Let2 A 122,284 87,284 35,000
R =332Y 103,240 68,240 35,000
OAIEEH 59,400 24,400 35,000
—& At 55,000,000 55,000 20,000 35,000
gHEZA 2 97,400 87,400 10,000
201 etz 92,000 82,000 10,000
02 5324 66,800 56,800 10,000
OAIE&EH 33,500 23,500 10,000
3=
30,000,000 30,000 20,000 10,000
SAAZAIE A 1,197,481 1,395,103 A197,622
= 0 200,540 A200,540
s 153,449 141,912 11,537
| 218,000 45,000 173,000
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= 0 17,200 A17,200
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= 4,875 8,600 A3,725
= 4,875 8,600 A3,725
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OJAABEIAIYAIY AIMTE A=Y
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OFASNAIHEAIY 212 & W=0LI
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ik 825 0 825
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307 el2told 0 385,440 1\385,440

0122 & 2= 0 385,440 385,440

Ogaett 2Hgdl s 0 0 385,440 A385,440
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01 AL =S F=HI 210,000 0 210,000
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210,000,000 1CH 210,000 0 210,000

TZ ALY 681,236 698,882 A17,646

= 17,465 17,036 429

2l 33,445 28,891 4,554

< 41,273 48,351 N7,078
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Hzd & Fohel xXI&ZHl K& 72,220 98,800 126,580

< 21,666 29,640 NT,974

i 50,554 69, 160 18,606

307 e12+old 72,220 98,800 126,580

< 21,666 29,640 NT,974

i 50,554 69,160 18,606

0122 & 3= 72,220 98,800 126,580
Ozl EL & A=EEE 25 XNH
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< 7,590 13,080 A5,490
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oozdl sul SEE At=2i2ldl X2
200,000& +3¥ 600 1,400 2800
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= 420 980 560
OS3E Xud=Hl K&
1,690,000 «8H 13,520 13,400 120
= 4,0% 4,020 36
T 9,464 9,380 84
OB0-64M1 NASE SEE A=l X2
1,640,0002 «20& 32,800 40,400 AT,600
S 9,840 12,120 N2,280
= 22,960 28,280 25,320
KNS E2AL S HE 2 34,930 34,072 858
= 17,465 17,036 429
& 5,239 5,111 128
= 12,226 11,925 301
101 e124d| 34,930 34,072 858
= 17,465 17,036 429
= 5,239 5,111 128
s 12,226 11,925 301
04 JI2HMIZ2 2 At 34,930 34,072 858
OXSEe L dE2E eldd]
2,910,833« 1H+ 122 34,930 34,072 858
= 17,465 17,036 429
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p) 27,629 21,961 5,668
= 8,289 6,588 1,701
s 19,340 15,375 3,965
201 LBt 2,762 2,1% 566
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== 414 329 85
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ia 967 769 198
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= 1,020 2,250 21,230
012z ¥ 2,040 4,500 22,460
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0122 % /=4 3,600 2,400 1,200
ONZ4 IZ2E 24| S X
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SR 2t 325,660 330, 153 A4,493
= 1,393 1,393 0
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[ 116,705 122,278 25,573
= 206,362 205,282 1,080
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i 3,720 4,731 21,011
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LRAEELN K& 121,406,000 1,406 2,209 2803
Il 703 1,105 A402
S 352 552 A200
= 351 552 2201
OZ3 AstxA S 32,0002 «100H 3,200 2,148 1,052
Il 1,600 1,074 526
& 800 537 263
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OZHetkt IIFESEL A
45,5003 32 1,456 1,508 NB2
Il 728 %4 N6
S 364 377 A13
fia 364 377 A13
OZHNIAETE HAANS Z2HAH
23,520 x3753 8,820 12,567 N3, 747
Il 4,410 6,284 N1,874
s 2,205 3,142 A937
i 2,205 3,141 2936
OSSAE SMA =29 2 28
0= 0 4% A6
J| 0 248 N248
S 0 124 N124
ia 0 124 A124
KA Z S &S AFAS 6,420 3,340 3,080
J| 3,210 1,670 1,540
S 1,605 835 770
= 1,605 835 770
307 212+01& 6,420 3,340 3,080

Jl 3,210 1,670 1,540
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el ZZgael EER=E)
SA - FE - SRA(3H) - MRAE - BES I8N Hws2
[ 1,605 835 770
= 1,605 835 770
01 2= & 2= 6,420 3,340 3,080
ORXIXtH B & ek 21,4002 300 6,420 3,340 3,080
2l 3,210 1,670 1,540
(= 1,605 835 770
s 1,605 835 770
SeH Ze D)L AA 1,000 429 571
< 300 129 171
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307 2I2t01 1,000 429 571
< 300 129 171
= 700 300 400
0122 & 3= 1,000 429 571
Osstd 29 27|
4,0008 250 1,000 429 571
& 300 129 17
= 700 300 400
OI0I= & ol 9,872 10,004 A132
Il 89%6 962 NBB
S 268 2838 220
= 8,708 8,754 av3)
307 2IZtold 8,672 8,804 A132
pJ 896 962 BB
= 268 2838 220
= 7,508 7,554 VAV §]
0122 & /=] 8,672 8,804 A132
OHIV/AIDS &I =4 576,000 «1H 576 720 A4
) 288 360 AT2
< 86 108 A2
= 202 252 250
OHIVEIEEAI2E 20K 8,800&x10Y 88 192 A104
Il 44 9% ANGY
< 13 29 A6
= 31 67 A
odgd Zd & X 11,2803 =100 1,128 1,012 116
) 564 506 58
< 169 151 18
= 3% 355 40
FUIIUS EIXIAE 3,675 2,700 975
= 0 2,700 22,700
2l 2,572 0 2,572
z 1,108 0 1,108
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[Ea 803 0 803
01 At22telt] 2,625 60 2,565
OF=ps Fat=—ta] o0& 0 60 260
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OJds0eg g2= M
5,250 #5008 2,625 0 2,625
7l 1,837 0 1,837
= 788 0 788
2 s5=34l 50 0 50
(OF=ps/t==ta] 10,0002 52 50 0 50
) 35 0 35
o 15 0 15
202 048l 1,000 1,000 0
= 0 1,000 A1,000
Jl 700 0 700
o 300 0 300
01 =LHOHI 1,000 1,000 0
OJIMSEIXIMNY =X 0]
50,0003 x22 10! 1,000 1,000 0
= 0 1,000 A1,000
Jl 700 0 700
o 300 0 300
307 @120l & 0 1,640 1,640
= 0 1,640 1,640
0192 & 3=H| 0 1,640 1,640
otgs & 4258 28 0 0 1,640 1,640
= 0 1,640 1,640
HIHES A 654,013 664,534 210,521
Il 286,059 291,317 N5,258
= 85,819 87,3% A1,577
o 282,135 285,821 A3,686
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7l 204,201 209,552 N\b5,351
s 61,261 62,866 1,606
o 142,940 146,686 A3,746
307 @120l & 408,402 419,104 /10,702
Il 204,201 209,552 A5,351
T 61,261 62,866 1,605
o 142,940 146,686 N3,746
01 2g & 2=Hl 408,402 419,104 /10,702
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S 16,241 15,511 730
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19,6722 1,000 19,672 18,768 904
| 9,83 9,384 452
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[ias 6,885 6,569 316
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Il 1,222 1,482 A260
L= 367 445 AT8
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10,100 100 1,010 1,548 A538
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= 1,300 2,000 2700
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